1. The graph of the function\ is given on top; below are
four potential derivatives:
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1. The graph of the function f is given on top; below are

four potential derivatives:
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For three of A-D, explain how you can reject the graph (one is them is derivative). You might point out
features on the graphs of those which you can reject (or make comments below.
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1. The graph of the function f is given on top; below are

four potential derivatives:
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For three of A-D, explain how you can reject the graph (one is them is derivative). You might point out
features on the graphs of those which you can reject (or make comments below.



1. The graph of the function f is given on top; below are
four potential derivatives:
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For three of A-D, explain how you can reject the graph (one is them is derivative). You might point out
features on the graphs of those which you can reject (or make comments below.
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1. The graph of the function f is given on top; below are

four potential derivatives:
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For three of A-D, explain how you can reject the graph (one is them is derivative). You might point out
features on the graphs of those which you can reject (or make comments below.



2. Use the a limit definition of the derivative to compute
the derivative of f(x) = 2 (but use centered difference for

full credit).
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2. Use the a limit definition of the derivative to cor_npﬁie
the derivative of f(x) = 2 (but use centered difference for
full credit).
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